

Produced with a Trial Version of PDF Annotator

$$f(x) = -x^2 - 2$$

$$f'(x) = -2x$$

$$\frac{f(x)}{f'(x)} = \frac{-x^2 - 2}{-2x} = \frac{x^2 + 2}{2x}$$

$$f'(x) - f(x) = -2x + x^2 + 2 = x^2 - 2x + 2$$

$$\frac{f(x)}{f'(x)} = \frac{-1}{2} = \boxed{\frac{-1}{2}} \checkmark$$

6

$$(f \circ g)' = g' \times f' \circ g \Rightarrow g' \times f'(x)$$

$$g\left(\frac{x}{\sqrt{x}}\right) = x \checkmark$$

$$g = \frac{1}{\sqrt{x}}(x^2 - 1)^{\frac{x}{2}} \times 2x = \frac{2x}{\sqrt{x}} = 2\sqrt{x}$$

جواب پائین لفظ

$$[4, 5] = 4$$

$$(4n)^2 = 16n^2$$

$$f'(n) = 32n \rightarrow f'(2) = 64$$

$$\frac{64}{-12n\sqrt{x}} = -1$$

7

$$g'(n) = f'(n+1) + 3f'(3n+10)$$

$$g'(5) = f'(-1) + 3f'(16)$$

$$f'(n) = \frac{1}{n^2}$$

$$f'(-1) = f'(1) = \frac{1}{1} = 1$$

$$4 \times \frac{3}{2} = 6$$

$$f'(n) = \frac{1}{n^2}$$

$$f'(-1) = f'(1) = \frac{1}{1} = 1$$

8

$$f'(x) - 2f(x) + \frac{1}{f(x)} = 0$$

$$f(x) \rightarrow \frac{1}{2}$$

$$f(x) = \frac{1}{2}$$

$$f'(x) = \frac{1}{x^2}$$

$$\frac{1}{x^2} - 2 \times \frac{1}{x} + \frac{1}{\frac{1}{x}} = 0$$

$$\frac{1}{x^2} - \frac{2}{x} + x = 0$$

$$\frac{1 - 2x + x^3}{x^2} = 0$$

$$1 - 2x + x^3 = 0$$

$$x^3 - 2x + 1 = 0$$

$$x = 1$$



9

$$9y - 2x = 1$$

$$x = \frac{1}{2}$$

$$2x - 4 = -2 \Rightarrow x = 1$$

$$(1)^2 - f(1) + 4 = 2 \Rightarrow$$

$$\frac{1}{x^2} + \frac{1}{x} = \frac{-5}{12}$$

$$\frac{1}{x^2} + \frac{1}{x} = \frac{-5}{12}$$

$$\frac{12 + 12x + x^2}{12x^2} = \frac{-5}{12}$$

$$12 + 12x + x^2 = -5x^2$$

$$6x^2 + 12x + 12 = 0$$

$$x^2 + 2x + 2 = 0$$

$$(x+1)^2 + 1 = 0$$

$$(x+1)^2 = -1$$

$$x+1 = \pm i$$

$$x = -1 \pm i$$

10

$$y = f(g(u)) \rightarrow y' = g'(u) f'(g(u)) \xrightarrow{u = \frac{r}{\sqrt{\lambda}}} y' = g'\left(\frac{r}{\sqrt{\lambda}}\right) f'\left(\underbrace{g\left(\frac{r}{\sqrt{\lambda}}\right)}_r\right) \rightarrow y' = g'\left(\frac{r}{\sqrt{\lambda}}\right) f'(r) \quad \text{سوال ٧}$$

$$g(u) = \frac{1}{\sqrt{2^r - 1}} = (2^r - 1)^{-\frac{1}{2}} \rightarrow g'(u) = -\frac{1}{2} (2^r - 1)^{-\frac{3}{2}} \times 2r = -\frac{r}{2} \times (2^r - 1)^{-\frac{3}{2}}$$

$$g'\left(\frac{r}{\sqrt{\lambda}}\right) = -\frac{r}{2} \times \frac{r}{\sqrt{\lambda}} \left(\frac{1}{\lambda}\right)^{-\frac{3}{2}} = -\frac{r}{\sqrt{\lambda}} \times r^{\frac{3}{2}} = -\frac{r^{\frac{3}{2}} \times \sqrt{r}}{r^{\frac{3}{2}}} = -r^{\frac{3}{2}} \sqrt{r} \rightarrow \underline{g'\left(\frac{r}{\sqrt{\lambda}}\right) = -\lambda \sqrt{r}}$$

$$y' = g'\left(\frac{r}{\sqrt{\lambda}}\right) f'(r) = -\lambda \sqrt{r} \times 4r = r \times (-4\lambda \sqrt{r}) \rightarrow \underline{\underline{-4\lambda r^{\frac{3}{2}}}}$$